Table 17.18 from (1971AJ02):
The half-life of 17F

T1/2 (SEC) Refs. #
66.0 = 0.5 (1958AR15)
66 + 1 (1949BR27)
66.3 + 1 (1951LA1A)
66.0 = 0.5 (1954K054)
66.0 £ 1.8 (1954W020)
66.0 + 0.2 (1960JA12)
66.0 + 0.2 mean

» See also (1952AJ38, 1954WA 1A, 1962VA27).



http://www.tunl.duke.edu/nucldata/HTML/A=17/17refs_1971.shtml#1951LA1A
http://www.tunl.duke.edu/nucldata/HTML/A=17/17refs_1971.shtml#1954WA1A
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1958Ar15,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1949Br27,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1954Ko54,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1954Wo20,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1960Ja12,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1962Va27,B
http://www.nndc.bnl.gov/nsr/nsrlink.jsp?1952Aj38,B

